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treated as case of unfair means.

o

1. What are the design issues of Physical Layer in OSI Model? & *:,;ECOB\{} marks]

Consider a scenano that a commumcatton lmk has a bandwxdth of 10 Mbps with 20 routers and each

million bits‘? (COl)[3 marks]
(CO2) [3 marks]

4. In the waveform (a) given below, a bit stream 1s encoded by Manchester encodmg scheme. The same
N

3. Compare circuit-switched and datagram network|

bit stream is encoded in a different codi

scheme in wave form (b). What is the bit strearh and the

coding scheme?
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@ (CO2)[3 marks]

A 20 Kbps satellite link has a propagation delay of 400 ms. The transmitter employs the “Go-Back-N
ARQ” scheme with N set to 10. Assuming that each frame is 100 bytes long, what is the maximum
data rate possible? (CO3) [3 marks]



